MTH 207 - CaLcurus 1
Dur: TUESDAY (AT THE START OF CLASS), JUNE 19, 2018

Instructions: Include all relevant work to get full credit.
Homework 1 - Algebra Review (20-points)

1. Evaluate each expression without using a calculator.
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2. Simplify each expression. Write your answer without negative exponents.
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3. Expand and simplify.
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a. 3(z+6)+4(2z - 5) = 3% +I8 +8X 30
b. (z+3)(3z—2) = 3x*4+3x 0
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4, Factor each expression.

a. 922 — 25 (Sx "S)(Sx -]-;)
b. 2245212 = (2% - 3 Wx+Y4) Y = (x-3) (¥*-%) = (x-3) (r-2W%+2)
e = 32%)— 434 12 : *K(pE-4) “3("\{{ \
d. z*+ 27 = X ('K "1'7'?'7 X(X'}'ZJ 7: 37‘4" - (K“
e. 3232 — 9z1/? L Gz~1/2 = KT Va (3}( Q}C'fré) - _’X_"éliz_‘_’ = Bﬁ (?{?(
foafy—dzy = gy (g} = xu (x-3)(x42)
5. Simplify the rational expression.
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6. Rationalize the expression and simplify.
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7. Solve the equation. Find'fc‘)l;lj]‘y the real solutions.
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8. Solve each inequality. Write your answer using interval notation. CL.L{,‘(_ -f \j__'_; ) 3D : ) '-["' 12
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9. State whether each equation is true or false. —

a (p+a)?=p+¢ —7 Falge
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